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Fir k>3 ist  j(kym,f) = 5, jv(k,m,F), wobei :
= v=1

5qkom,p) = 23 a(m)Z”_d e ()
tif m

8 falls m ungerade

iplkym,p) = L2 (mpeep)x

a(m) 45- '(:%)f4f(t) falls m gerade
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Jglkemyr) = LD {(é) £ 3(kym f)}a(m)z__; (o)
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und  ji(k,m,t) = 0 falls 3fm ,
bzu, falls 3%|m, 131, (3%,"/3%)=1, dann
K
(3) fallsr gerade
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jé(k,m,t) = 3[r/é](ﬂé§_)/u?(3)x 2 falls r ungerade, & 3'k

1 sonst

1 falls 4fm/t

S 2 falls 4|m/t
j4(mvf) = - % a(m) / Q(t)(if(%)*{” ,m

tllm
Sg(mf) = a(m) / ,f;(t) 4 (%
t’! C’mod 2m
=0 mod t

o falls t= 2 mod4

2 (*7)
(=~ Z h*(-d) a(m) Z (‘d)x falls t=0 mod4 )

d|4m t)l m falls t ungerade



